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The figures in. the margin indicate full marks
for the questlons ‘

Choose the correct answer : - o 1‘x5_='5

L I Mean > Medlan > Mode, then the
7 ‘dlsu‘buﬁon is called as :

A Negatively vSkevvli-rBd . ..
B. Positively Skewed
C Sytnmeu'ical o
D

D. None of the above
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C 1L ':Fo.‘ i the < . : S
| T norgn_a?,curvg,_ the Coefficient of kurtosis .| 2 Answer any five of the followmg questions :
. | A - 5%5=25

s :
A. 0 | B .1 (a) Write short note on presentatlon of statistical
C. 2 . ‘ . data. -
. - . D. . . .
o L 3 - (b) Calculate the average marks by the step

dev1at10n method :

. Conelauon coefficient tends to lle betwe, _
e _ | _
A Oto+ o Marks :]0-10[10-20]20-3030-40[40-50]50-60
- BT [Numberof:| 40 | 25 | 50 | 35 | 30 [ 20 |
. |Students

C. — l to +1 . D
. - =2t + . - . ’
- 2 (c) Calculate standard deviation SD (o) and.

~ IV. What will be the stahdard etror (SE), when standard error (SE) of the following data :

'n =1 = |
00 and o= 057 | Height 7[95-105[105-115 [115-125[125-135]135-145
A“ 005 . B g In inches ' -
| B No. of 19 | 23 | 36 | 70 | 52
C. 05 " D. 0.02 Children 1
v The statlstlcal anal. | (d) Write short notes on skewness and kurtosis.
ysis of twO o . : |
samples (n = 200) is testeq by - Lrelated large (¢) Explain Z-test.
A. PaJred t’-test : . (f) Write different methods of studying
a . correlation.
.b. Chl-square t - - ' | :
¥ A est (g) Defme chi square test and mention some
C. Z-test applications.

(h) Differentiate between co-rrelation and

D.' -Unpaired “-test, rent
| regre .
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(@) Write ~short 'notes.'o"n', sta’?ist’ : A= .5‘ 314
- packages.’ - sl software |

3lal3l2]2(3{-

B=1[3|2]4|21}

3. . Answer ‘any.one of the followiﬁg Questions : | : ‘ :
| o o l0><l=i0 _ Given ,tab‘ulated value for ‘t’
' df 23 : is 2.07

-test at 0.05 for

. () The following data give the
of land in three samples yp
of fertilizers.

Yields on 12 plojs
fle?.three Yaﬁetigs ] C. Write short notes

on ANOVA analysis and
 tetest. : .

A | B | c] f
25 | 20 | 24 |
122 | 17 | 26
124 [. 16- | 3¢
21 | 19 | 3

Is there any . significant diff |
average yields of land ‘ungey o, the
varieties of fertilizers ? - i€ three

S_vGiven that F as 'df'(z,' 9) at 507

level is 4.2¢,

(b) In anutritional study, 13 chijdy.
- .a usual diet plus vitamipg d‘;e'; WCDretag;;'en
‘tables,

- While the second comparay,
. e 1 e grou
children was taking the yg,,, diet.‘,zﬂ:i g

months, the gain in wejop, ;- >
noted as given in the tabl?t 1 pounds was

. . Can ou '
vitamins A & D were ~<11 You say that
difference ? | resp°n${ble for the

]
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. (Theory Paper)
Paper Code : BOT-304 (Pan n
. (Bmmformat,cs)

The ﬁgures in the margip in dlcate ﬁx |
| or the questjopg I maggs

1. Choose the’ correct an
- questions (any five) :

(A) Which of the followi,

used to search for Protein hAST
ology o
@ TBLASTx &

(iii) BLAST x (iv) BLAST .
P

®B) Open Readmg Frame js jp, dlcatIVe f
() DNA replication
(n) Coding potentia] -
(iif) Non-coding strete
(iv) Proinoter site

18/63/2(SEM-3) BOT 304 ()

Search Can be

(C) NCBI stands for -

(i) National Center for Bioi_nformatics

Informatlon
(ii) National Center for Blotechnology
Information o
(iii) National Center for Blochemlcal'
~ Information
(iV) Nationa] Center for

Broadbaﬁd
Information R

(D) Thetwo main features of anyvphylc_)genetic tree
are : . .

' (i) The.clades and the nodes
(if) The topology and thé branch lengths
(iii) The clades and thé root

: (i\;) The alignment and the bootstrap

(E) Which of the following is true about PAM
matrices ?

(1) Created by Chou-Fasman
(ii) Created using conserved DNA families

(iii) PAM-1 means 1 accepted point mutations
per 100 residues
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